7 Optima thought that #6

straightforward. She decides to start simple and multiply by -1, so she begins with
y = —x2. Predict what the effect is on the graph and then test it. Why does it have this effect?
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and 'ne'gative numbers, fractions and integers, create at least 4 tables and matching graphs to
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at one was easy. She decides to end her investigation for

\ v
the day by determining the effect of a multiplier, g, in the equation: y = ax?. Using both positive
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Big ldeas — Day 2.
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Unit 4 Day 2

Summary

a: a causes the graph to getWidCV or-\_\(\'\\(mt\/ also called a vertical Q!H!]PESS\OY] or \S'\‘VC\T\K\

e If|a| > 1, the result is a vertical S’\‘K‘\'dﬂ by a scale factor of |a|
e 1If0 <|a| < 1,the resultis a vertica by a scale factor of |a|

(Hvaton
If a is negative, the graph is h{:\ ected. (flipped) over the x-axis.

|. Describe the transformation(s) from the parent function f(x) = x?2 and identify the vertex of g(x).

1. g(x) =()(x — 5)2 (glk\)) 2. g(x) =FB(x &89 (—0] - 3. g(x) =C0Bx? §1 (0]—\)
pﬂf{\’\ cc_g(ovcv e Xaxis Reficct wr,v"r\ru. X—0X\s. d—w% ef ot Ovev ﬂw X—ax(s
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49(x) = Y (x 458)* £20, (_31’ ) 505:‘) =0 ot ZM‘ (5,0) & o N gR Ofown ‘(
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Il Identify the vertex and write an equation'in vertex form to represent the transformed function h(x) given the parent
function f(x) = x2.
y \gemgajlsg tch-by-a:scalefacto ﬁm horizontal shift left;5,wvertical shift: d0\2/vn 2,(reflect’over the x-axis}
2) OO =s3(x= 5y 5 = —3(kt5)i 7
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